
DAIKIN OPTIONAL PARTS BKS028A4

Two-dimensional bar code 
is a code for manufacturing.

3P290325-1A  M11B010A

Accessories

Limitations on Place of Installation

1. Assembling the installation frame.
1) Fix the     floor anchor,     side support (R),     side support (L), and     reinforce plate at the 6 locations using the 

parts shown below.
(    Bolt (M6 × 16L),     Washer (M6),     Spring washer (M6) ,     Nut (M6))

2. Fix the installation frame.
2-1) Fix the installation frame at 2 locations on the 

floor surface using the M10 foundation bolts. 
(field supply: M10 foundation bolt)

2-2) Fix the installation frame at 4 locations on the 
wall using screws. (field supply: M4 × 25L)

Installation Procedure

Floor anchorA Reinforce plateD CoverG Washer (M6)K

Side support (R)B Support plateE Thermal insulationH Spring washer (M6)L

Side support (L)C Support coverF Bolt (M6 × 16L)J Nut (M6)M

Screw (M4 × 8L)N

2 1 1 12

1 2 1 6

1 1 6 6

25

45

142 (gas pipe)

157 (liquid pipe)

60

72
0

* 
M

ax
im

um
 h

ei
gh

t 
(f

or
 a

ir 
co

nd
iti

on
er

 in
st

al
la

tio
n)

15
0

40
3

233

* Maximum depth 
(for air conditioner installation)

223

unit: mm950

* Maximum width
(for air conditioner installation)

105105

537.5

244537.5

43* M10 foundation bolt

* Fixing holes 
on the wall

A

J K L M

B C D

CAUTION

• Be sure to fix the installation frame 
on the floor surface firmly using 
M10 foundation bolts. 

• Fix the installation frame to a 
sufficiently strong wall that can 
bear the heavy load of the unit.

Floor anchorA

Side support (R)B

Side support (L)C

M

M

L
K

K

K

L
K

J

J

Reinforce plateD

Cross-section diagram* Be careful of the installation direction.
Face the cut surface inside.

Floor anchorA

Reinforce plateD

Washer (M6)K

Washer (M6)K

Spring washer (M6)L

Bolt (M6 × 16L)J

Nut (M6)M

Screws (field supply: M4 × 25L)
(4 locations)

M10 foundation bolts (field supply) 
(2 locations)

M10 nuts (field supply) 
(2 locations)

Right pipingLeft piping

Right back pipingLeft back piping

Right bottom pipingLeft bottom piping

40
6 

(li
qu

id
 p

ip
e)

36
9 

(g
as

 p
ip

e)

01_EN_3P290325-1A.fm  Page 1  Monday, August 22, 2011  5:32 PM



Thermal insulationH

Set the     thermal insulation 
according to the locations of the 
M10 foundation bolts.

H

4. Installing the air conditioner and performing finishing.
4-1) Hook the air conditioner on the mounting plate (supplied with the air conditioner), and fix it at 2 locations on the 

installation frame using screws. (    Screw (M4 × 8L))

3. Preparing for the air conditioner installation.
3-1) Remove the pipe port cover on the bottom right of the air conditioner.

3-2) Set the     thermal insulation, and cover the field piping, drain hose, and inter-unit wiring with it. 
(Note: The     thermal insulation is used only when it is routed under the     support cover.)

3-3) Fix the     support cover at 8 locations on the installation frame using screws. (    Screw (M4 × 8L))

3-4) Fix the     support plate (2 pcs.) at 6 locations on the installation frame using screws. (    Screw (M4 × 8L))

3-5) Fix the mounting plate (supplied with the air conditioner) at 6 locations on the installation frame using screws. 
(    Screw (M4 × 8L))

H

H F

NF

N

N

E

N

* In accordance with the direction of 
the piping, remove the pipe port 
cover of the     cover on either the 
left or right.

4-2) After connecting the field piping, drain hose, and 
inter-unit wiring, fix the     cover at 3 locations on the 
installation frame using screws. (    Screw (M4 × 8L))N

G

Screw (M4 × 8L)
(2 locations)

N

G

CoverG

Screw (M4 × 8L)
(3 locations)

N

Diagram of finished unit

Mounting plate 
(supplied with the air conditioner)

(After the     support 
cover is installed.)

F
Support plateE

(After the     support 
cover is installed.)

F
Support plateE

Screw (M4 × 8L)
(6 locations)

N

Screw (M4 × 8L)
(6 locations)

N

Cross-section diagram

Thermal insulationH

Drain hose

Inter-unit wiring

Field piping

Screw (M4 × 8L)
(8 locations)

N

Support coverF

Pipe port cover

01_EN_3P290325-1A.fm  Page 2  Monday, August 22, 2011  5:32 PM


	Accessories
	Limitations on Place of Installation
	Installation Procedure

